

BOUNDEDNESS OF THE EXTREMAL SOLUTION FOR SOME p -LAPLACIAN PROBLEMS

LONG WEI

(Communicated by Peter Takac)

ABSTRACT. We investigate the regularity of extremal solutions to some p -Laplacian Dirichlet problems with strong nonlinearities. Under adequate assumptions we prove the smoothness of the extremal solutions for some classes of nonlinearities. Our results suggest that the extremal solution's boundedness for some range of dimensions depends on the nonlinearity f .

©2014
Mathematical Institute
Slovak Academy of Sciences

1. Introduction

Let Ω be a smooth bounded domain in \mathbb{R}^N and $p > 1$. We consider the quasi-linear elliptic problem

$$\begin{cases} -\Delta_p u := -\operatorname{div}(|\nabla u|^{p-2}\nabla u) = \lambda f(u) & \text{in } \Omega, \\ u \geq 0 & \text{in } \Omega, \\ u = 0 & \text{on } \partial\Omega, \end{cases} \quad (1)$$

where Δ_p is the p -Laplace operator, λ is a positive parameter and f satisfies the following assumptions:

- (2) $f: \mathbb{R} \rightarrow \mathbb{R}^+$ is an nondecreasing C^2 function, $f(0) > 0$,
such that $f(t)^{\frac{1}{p-1}}$ is superlinear at infinity, that is,
 $\lim_{t \rightarrow +\infty} \frac{f(t)}{t^{p-1}} = +\infty$ and $f(t)^{\frac{1}{p-1}}$ is convex in $[0, +\infty)$.

2010 Mathematics Subject Classification: Primary 35J70; Secondary 35J60.

Keywords: extremal solution, p -Laplacian, regularity.

This work is partly supported by NSFC Grant No. 11101111, Zhejiang Provincial Natural Science Foundation of China under Grant No. LY12A01003 and Subjects Research and Development Foundation of Hangzhou Dianzi University under Grant No. ZX100204004-6.

Throughout the paper, we say that u is a *solution* of (1) if $u \in W_0^{1,p}(\Omega)$, $f(u) \in L^1(\Omega)$ and

$$\int_{\Omega} |\nabla u|^{p-2} \nabla u \nabla \varphi \, dx = \lambda \int_{\Omega} f(u) \varphi \, dx \quad \text{for all } \varphi \in C_0^1(\Omega). \quad (3)$$

These solutions, which may be unbounded, are usually called *weak energy solutions*. For short, we will refer to them simply as solutions. In addition, by the strong maximum principle (see [16, 20]) one has $u > 0$ in Ω .

On the other hand, we say that $u \in W_0^{1,p}(\Omega)$ is a *regular solution* of (1) if u is a solution and $f(u) \in L^\infty(\Omega)$. By well known regularity results for degenerate elliptic equations, we can have that every regular solution belongs to $C^{1,\beta}(\bar{\Omega})$ for some $\beta \in (0, 1]$ (see [6, 13, 19]).

Problem (1) has been studied in some papers. In [9, 10], for $f(u) = e^u$ Gareia-Azoreno, Peral and Puel obtain the existence of the family of minimal regular solutions (λ, u_λ) for $\lambda \in (0, \lambda^*)$. Here minimal means smaller than any other possible solution of the problem. Consider the increasing limit

$$u^* := \lim_{\lambda \nearrow \lambda^*} u_\lambda. \quad (4)$$

In contrast with the case $p = 2$ involving the Laplacian (which has been extensively studied, see [2, 3, 5, 7, 12, 14, 15, 21, 22] and so on), it is not always clear that the limit u^* is a weak solution of (1) for $\lambda = \lambda^*$. When one can establish that u^* is a weak solution (this may depend on the assumptions on N , p , Ω and f), it is called the *extremal solution*. The authors show in [9, 10] that u^* is a weak energy solution independently of N and that u^* is a bounded solution in addition

$$N < p + \frac{4p}{p-1}. \quad (5)$$

Moreover, if $N \geq p + \frac{4p}{p-1}$ and the domain Ω is the unit ball of \mathbb{R}^N then u^* is unbounded.

Under assumption (2), Cabré and Sanchón in [4] prove the existence of the family of minimal regular solutions for $\lambda \in (0, \lambda^*)$ and the nonexistence of regular solutions for $\lambda > \lambda^*$ of (1). Moreover, it is also proved that for every $\lambda \in (0, \lambda^*)$ the minimal solution u_λ is semi-stable in the sense that the second variation of the energy functional associated with (1) is nonnegative definite. Consequently, every minimal solution u_λ satisfies

$$\lambda \int_{\Omega} f'(u_\lambda) \psi^2(u_\lambda) \, dx \leq (p-1) \int_{\Omega} \psi'^2(u_\lambda) |\nabla u_\lambda|^p \, dx \quad (6)$$

for all $\psi \in C^1([0, \infty))$ such that $\psi(0) = 0$. In addition, [4] establishes a range of dimensions where problem (1) with $\lambda = \lambda^*$ admits a bounded extremal solution for some nonlinearities with power growth at infinity. Independently, Ferrero

studies problem (1) for $f(u) = (1 + u)^m$ with $m > p - 1$ and obtains similar results in [8].

In [17] it is proved, for $p \geq 2$, that u^* is a solution of (1) with $\lambda = \lambda^*$ if $N < p(1 + p')$, where $p' = \frac{p}{p-1}$, and $u^* \in L^\infty(\Omega)$ if $N < p + p'$. But it is still an open problem to prove the boundedness (or not) of the extremal solution when $p(1 + p') \leq N < p + 4p'$ even for $p = 2$. Later on, in [18] the author shows some extended results.

In this paper, we would study some model classes of the nonlinearity of problem (1), which make the extremal solution of this problem possess the regularity property.

First, we assume that $f(u)$ satisfies the condition:

- (7) *there exists positive constants a and b , $a \geq b$, such that*

$$b \leq \frac{f'(u)}{f(u)} \leq a \text{ holds for any } u \geq 0,$$

then our first main result can be stated as follows.

THEOREM 1.1. *If f satisfies conditions (2) and (7), u^* is the function defined in (4). Then u^* is a regular extremal solution of (1) for any $N < N^* := p(1 + \frac{4b}{a(p-1)})$. In particular, $u^* \in L^\infty(\Omega)$.*

In the above theorem, if we take $a = b$, then $N^* = p(1 + \frac{4}{p-1})$. For $p = 2$, Theorem 1.1 has been obtained in [7]. Now, we point out that there are some examples for f satisfying conditions (2) and (7). For example, $f(u) = e^u + \varepsilon g(u)$ with a small parameter $\varepsilon > 0$ and a function $g(u)$ satisfying $g(u) > 0$, $0 \leq g'(u) \leq Ce^u$, and $g''(u) \geq 0$ for any $u > 0$. Another example is $f(u) = e^u \sum_{i=0}^n a_i u^i$ if the coefficients a_i satisfy some constraints such that $f(u)$ satisfies (2). So our assumption (7) and the condition (21) in [18] are not covered each other.

Next, we assume that $f(u)$ satisfies the following condition:

$$\liminf_{t \rightarrow +\infty} \frac{f(t)f''(t)}{f'^2(t)} = \gamma > 0, \quad \limsup_{t \rightarrow +\infty} \frac{f(t)f''(t)}{f'^2(t)} = \Gamma, \quad (8)$$

then our second result is the following.

THEOREM 1.2. *Assume $f(u)$ satisfies (2) and (8), u^* is the function defined by (4), then the following assertions hold:*

- (i) *Let $p \geq 2$, in addition, $\gamma - \frac{p-2}{p-1}\Gamma \geq \frac{p-2}{(p-1)^2}$, then u^* is a solution of (1) and $u^* \in L^\infty(\Omega)$ for any $N < N_1^*(p)$, where*

$$N_1^*(p) = p \left\{ p - 1 - (p - 2)\Gamma + \frac{2}{p-1} \left(1 + \sqrt{2 - p + (p-1)[(p-1)\gamma - (p-2)\Gamma]} \right) \right\};$$

- (ii) If f is a convex function and $1 < p \leq 2$, then u^* is a solution of (1) and $u^* \in L^\infty(\Omega)$ for any $N < N_2^*(p)$, where

$$N_2^* = p \left\{ p - 1 - (p - 2)\gamma + \frac{2}{p - 1} \left(1 + \sqrt{2 - p + (p - 1)\gamma} \right) \right\}.$$

We remark that if $1 < p \leq 2$ and $\gamma \geq 1$, then we have that $N_2^* \geq H(p)$, where $H(p)$ is given in [18]. For $p \geq 2$, if $\gamma = \Gamma$, then $N_1^*(p) = p \left\{ p - 1 - (p - 2)\gamma + \frac{2}{p - 1} (1 + \sqrt{1 + (p - 1)(\gamma - 1)}) \right\}$. In this case, we assume in addition that $\gamma \leq 1$, then $N_1^* \geq N(p)$, here $N(p)$ is given in [18]. Hence, our result extends partially the main results in [18]. On the other hand, for $p = 2$, we find that $N_2^* = 6 + 4\sqrt{\gamma}$, this has been given in [22]. And for $f = e^u$ we have $\gamma = \Gamma = 1$ and $N_1^* = N_2^* = p(1 + \frac{4}{p-1})$, which is well known result. Hence, our results extend partially the main results of above literatures. Our main idea is to find some suitable test functions for obtaining appropriate estimations in virtue of (6), as in [5, 21, 22] and so on.

The paper is organized as follows. In section 2, we give a known regularity result for solutions of (1). In section 3 and 4, we prove Theorem 1.1 and 1.2.

2. Preliminaries

We consider the problem

$$\begin{cases} -\Delta_p u = g(x) & \text{in } \Omega, \\ u = 0 & \text{on } \partial\Omega, \end{cases} \quad (9)$$

where $g \in L^q(\Omega)$ for some $q \geq 1$. Then the following result can be found in [11] or [1].

LEMMA 2.1. *Assume that $g \in L^q(\Omega)$, for some $q \geq 1$, and that u is a solution of (9). The following assertions hold:*

- (i) If $q > \frac{N}{p}$, then $u \in L^\infty(\Omega)$. Moreover,

$$\|u\|_\infty \leq C \|g\|_q^{\frac{1}{p-1}},$$

where C is a constant depending only on N , p , q and $|\Omega|$.

- (ii) If $q = \frac{N}{p}$, then $u \in L^r(\Omega)$ for $1 \leq r < +\infty$ and

$$\|u\|_r \leq C \|g\|_q^{\frac{1}{p-1}},$$

where C is a constant depending only on N , p , r and $|\Omega|$.

(iii) If $1 \leq q < \frac{N}{p}$, then $|u|^r \in L^1(\Omega)$ for $0 < r < r_1$, where $r_1 := \frac{(p-1)Nq}{N-pq}$.
Moreover,

$$\| |u|^r \|_1^{1/r} \leq C \|g\|_q^{\frac{1}{p-1}},$$

where C is a constant depending only on N, p, q, r and $|\Omega|$.

3. Proof of Theorem 1.1

In this section, we will use (3) and (6) to prove Theorem 1.1. Theorem 1.1 is a consequence of the following proposition.

PROPOSITION 3.1. Assume that $f(u)$ satisfies the condition (2) and for some $a, b, q, s > 0$ with

$$bq > a(p-1)s^2 \quad (10)$$

such that

$$b \leq \frac{f'(u)}{f^{1+q-2s}} \leq a. \quad (11)$$

Then the function u^* given by (4) belongs to $L^\infty(\Omega)$ and is a regular extremal solution to (1) for $N < p(1+q)$.

Proof. Let u_λ , $0 < \lambda < \lambda^*$ be the sequence of minimal (regular) solutions of the problem (1) which converges to the function u^* . Now taking

$$\varphi(t) = f^q(t) - f^q(0) := f^q(t) - A \quad \text{and} \quad \psi(t) = f^s(t) - f^s(0) := f^s(t) - B,$$

from (3) we have

$$q \int_{\Omega} |\nabla u_\lambda|^p f^{q-1}(u_\lambda) f'(u_\lambda) \, dx = \lambda \int_{\Omega} f(u_\lambda) [f^q(u_\lambda) - A] \, dx. \quad (12)$$

On the other hand, it follows from (6) and (11) that

$$\begin{aligned} \lambda \int_{\Omega} f'(u_\lambda) [f^s(u_\lambda) - B]^2 \, dx &\leq s^2(p-1) \int_{\Omega} |\nabla u_\lambda|^p f^{2s-2}(u_\lambda) f'^2(u_\lambda) \, dx \\ &\leq a(p-1)s^2 \int_{\Omega} |\nabla u_\lambda|^p f^{q-1}(u_\lambda) f'(u_\lambda) \, dx. \end{aligned} \quad (13)$$

Therefore, taking account of (11), (12) and (13) we deduce that

$$\begin{aligned}
 \lambda b \int_{\Omega} f^{1+q-2s} (f^{2s} - 2Bf^s) \, dx &\leq \lambda b \int_{\Omega} f^{1+q-2s} (f^s - B)^2 \, dx \\
 &\leq \lambda \int_{\Omega} f' (f^s - B)^2 \, dx \\
 &\leq a(p-1)s^2 \int_{\Omega} |\nabla u_{\lambda}|^p f^{q-1} f' \, dx \\
 &= \frac{a(p-1)s^2 \lambda}{q} \int_{\Omega} f (f^q - A) \, dx,
 \end{aligned}$$

which implies

$$\left(b - \frac{a(p-1)s^2}{q} \right) \int_{\Omega} f^{1+q} \, dx \leq 2bB \int_{\Omega} f^{1+q-s} \, dx.$$

Thus, applying the Hölder inequality we get

$$\int_{\Omega} f^{1+q} \, dx \leq C \int_{\Omega} f^{1+q-s} \leq C \left(\int_{\Omega} f^{1+q} \right)^{\frac{1+q-s}{1+q}},$$

that is,

$$\left(\int_{\Omega} f^{1+q} \right)^{\frac{s}{1+q}} \leq C, \quad C > 0. \tag{14}$$

This shows that $f(u_{\lambda})$ is uniformly bounded in $L^{1+q}(\Omega)$. By the Lemma 2.1 we obtain that u_{λ} is uniformly bounded in $L^{\infty}(\Omega)$ for $N < p(1+q)$. Therefore $u^* = \lim_{\lambda \uparrow \lambda^*} u_{\lambda}$ belongs to $L^{\infty}(\Omega)$ and is a regular extremal solution of (1) for $\lambda = \lambda^*$. \square

Proof of Theorem 1.1. Taking an arbitrary $q > 0$ such that $q < \frac{4b}{a(p-1)}$ and setting $s = \frac{q}{2}$, by the Proposition 3.1 we can obtain easily the desired result for $N < p(1 + \frac{4b}{a(p-1)})$. \square

4. Proof of Theorem 1.2

In this section, we begin with the following lemma.

LEMMA 4.1. *Let f be a positive, nondecreasing, convex C^2 -function, and u_λ be a solution of (1). Assume that*

$$\|f^{(\beta-1)(p-1)+1}(u_\lambda)(f'(u_\lambda))^{p-1}\|_{L^1(\Omega)} \leq C_1$$

for some $\beta \geq 1$, then for $N < p[1 + (p-1)\beta]$ there holds

$$\|u_\lambda\|_{L^\infty(\Omega)} \leq C$$

for some positive constant $C > 0$.

Proof. Since $f^\beta(u_\lambda)$ is convex for $\beta \geq 1$, a direct computation shows that

$$\begin{aligned} -\Delta_p f^\beta(u_\lambda) &= -\beta^{p-1} \left\{ |\nabla u_\lambda|^p \left[(\beta-1)(p-1) f^{p\beta-p-\beta} (f')^p \right. \right. \\ &\quad \left. \left. + (p-1) f^{(\beta-1)(p-1)} (f')^{p-2} f'' \right] \right\} \\ &\quad - \beta^{p-1} f^{(\beta-1)(p-1)} (f')^{p-1} \operatorname{div}(|\nabla u_\lambda|^{p-2} \nabla u_\lambda) \\ &\leq \lambda \beta^{p-1} f^{(\beta-1)(p-1)+1} (f')^{p-1}. \end{aligned} \tag{15}$$

Let $v = v_\lambda$ be the solution of

$$\begin{cases} -\Delta_p v = \lambda \beta^{p-1} f^{(\beta-1)(p-1)+1}(u_\lambda)(f')^{p-1}(u_\lambda) & \text{in } \Omega, \\ v = f^\beta(0) & \text{on } \partial\Omega, \end{cases} \tag{16}$$

from (15) we then have $-\Delta_p f^\beta(u_\lambda) \leq -\Delta_p v$ in Ω and $f^\beta(u_\lambda) = f^\beta(0) = v$ on the boundary. So the weak comparison principle yields that $f^\beta(u_\lambda) \leq v$. From the boundedness of $f^{(\beta-1)(p-1)+1}(u_\lambda)(f')^{p-1}(u_\lambda)$ in $L^1(\Omega)$ and the Lemma 2.1, we conclude that v is bounded uniformly in $L^r(\Omega)$, where $r = \infty$ for $N < p$, $r \in [1, \infty)$ for $N = p$ and $r \in (0, \frac{(p-1)N}{N-p})$ for $N > p$. Therefore $f(u_\lambda)$ is bounded uniformly in $L^{\beta r}(\Omega)$. Using the Lemma 2.1 again, we find that $u_\lambda \in L^\infty(\Omega)$ for any $N < p + p(p-1)\beta$. \square

We now apply Lemma 4.1 and the inequality (6) to prove Theorem 1.2.

Proof of Theorem 1.2. First, we choose some suitable functions φ and ψ such that $\varphi(0) = \psi(0) = 0$ and $\varphi'^2(t) = \frac{1}{p-1}\psi'(t)$, then by taking $\psi(u_\lambda)$ as a

test function in (6) and using Eq. (1), we get

$$\begin{aligned} \lambda \int_{\Omega} f'(u_{\lambda}) \varphi^2(u_{\lambda}) \, dx &\leq \int_{\Omega} \psi'(u_{\lambda}) |\nabla u_{\lambda}|^p \, dx \\ &= - \int_{\Omega} \operatorname{div}(|\nabla u_{\lambda}|^{p-2} \nabla u_{\lambda}) \psi(u_{\lambda}) \, dx \\ &= \lambda \int_{\Omega} f(u_{\lambda}) \psi(u_{\lambda}) \, dx. \end{aligned} \quad (17)$$

Next, without loss of generality, we assume that $f(0) = 1$. Let

$$\varphi(t) = (f')^{\frac{p-2}{2}}(t) (f^{\alpha}(t) - 1),$$

where $\alpha > 0$ is a constant to be determined later.

Case (i): $p \geq 2$.

Observe first that the condition (2) implies f is convex on $[0, +\infty)$ in this case. For $\psi(t)$ we have the following estimate

$$\psi(t) \leq \tilde{C} (f')^{p-1} (f^{2\alpha} - 1) f^{-1} + C \quad (18)$$

for all $t > 0$, where $\tilde{C} \in (0, 1)$ and C are constants.

In fact,

$$\begin{aligned} \psi(t) &= (p-1) \int_0^t \varphi'^2(s) \, ds \\ &= (p-1) \int_0^t \left[\frac{p-2}{2} (f')^{\frac{p}{2}-2} f'' (f^{\alpha} - 1) + \alpha f^{\alpha-1} (f')^{\frac{p}{2}} \right]^2 \, ds. \end{aligned} \quad (19)$$

Note that the condition (8) yields: given any $\varepsilon \in (0, \gamma)$ there exists $C \geq 0$ such that

$$\int_0^t \frac{p-2}{2} (f')^{\frac{p}{2}-2} f'' (f^{\alpha} - 1) \, ds \leq \int_0^t \frac{p-2}{2} (f')^{\frac{p}{2}-2} (f^{\alpha} - 1) \frac{f'^2(\Gamma + \varepsilon)}{f} \, ds + C, \quad (20)$$

so substituting (20) into (19) we obtain that

$$\begin{aligned}
 \psi(t) &\leq (p-1) \left[\alpha + \frac{(p-2)(\Gamma + \varepsilon)}{2} \right]^2 \int_0^t f^{2\alpha-2} f'^p \, ds \\
 &\quad + \frac{(p-2)^2(\Gamma + \varepsilon)^2(p-1)}{4} \int_0^t f'^p f^{-2} \, ds \\
 &\quad - (p-1)(p-2)(\Gamma + \varepsilon) \left[\alpha + \frac{(p-2)(\Gamma + \varepsilon)}{2} \right] \int_0^t f'^p f^{\alpha-2} \, ds + C.
 \end{aligned} \tag{21}$$

Observing that

$$\begin{aligned}
 \int_0^t f^{2\alpha-2} f'^p \, ds &= \frac{1}{2\alpha} (f'^{p-1} (f^{2\alpha} - 1) f^{-1} \\
 &\quad + \frac{1}{2\alpha} \int_0^t (f^{2\alpha} - 1) f^{-2} [f' - (p-1)(f')^{p-2} f''] \, ds,
 \end{aligned} \tag{22}$$

as above by (8) we can find

$$\begin{aligned}
 &\int_0^t (f^{2\alpha} - 1) f^{-2} [f'^p - (p-1)(f')^{p-2} f''] \, ds \\
 &\leq [1 - (p-1)(\gamma - \varepsilon)] \int_0^t (f^{2\alpha} - 1) f^{-2} f'^p \, ds + C.
 \end{aligned} \tag{23}$$

Hence from (22) and (23) we obtain

$$\begin{aligned}
 \int_0^t f^{2\alpha-2} f'^p \, ds &\leq C^* \left((f')^{p-1} (f^{2\alpha} - 1) f^{-1} \right. \\
 &\quad \left. - [1 - (p-1)(\gamma - \varepsilon)] \int_0^t f^{-2} f'^p \, ds + C \right),
 \end{aligned} \tag{24}$$

where

$$C^* = \frac{1}{2\alpha - 1 + (p-1)(\gamma - \varepsilon)}.$$

Substituting (24) into (21) and notice the fact

$$\frac{f^{-2}f'^p}{f^{2\alpha-2}f'^p} = \frac{1}{f^{2\alpha}} \rightarrow 0 \quad \text{as } t \rightarrow \infty,$$

we can obtain

$$\psi(t) \leq \tilde{C}(f')^{p-1}(f^{2\alpha} - 1)f^{-1} + C \quad \text{for all } t > 0, \quad (25)$$

that is, (18) holds, where

$$\tilde{C} = \frac{(p-1)[2\alpha + (p-2)(\Gamma + \varepsilon)]^2}{4[2\alpha - 1 + (p-1)(\gamma - \varepsilon)]} \in (0, 1). \quad (26)$$

(26) implies

$$\alpha < \alpha^* := \frac{1}{2(p-1)} \left[2 - (p-1)(p-2)(\Gamma + \varepsilon) + 2\sqrt{2 - p + (p-1)[(p-1)(\gamma - \varepsilon) - (p-2)(\Gamma + \varepsilon)]} \right].$$

Now going back to the inequality (17), we find that

$$\int_{\Omega} (f')^{p-1}(f^{\alpha} - 1)^2 dx \leq \int_{\Omega} f \left[\tilde{C}(f')^{p-1}(f^{2\alpha} - 1)f^{-1} + C \right] dx,$$

that is

$$(1 - \tilde{C}) \int_{\Omega} (f')^{p-1} f^{2\alpha} dx \leq 2 \int_{\Omega} (f')^{p-1} f^{\alpha} dx + C \int_{\Omega} f dx,$$

which yields for any $\alpha \in (1, \alpha^*)$

$$\int_{\Omega} (f')^{p-1} f^{2\alpha} dx \leq C. \quad (27)$$

Since ε can be arbitrarily small, we conclude that for any

$$\alpha < \frac{1}{2(p-1)} \left[2 - (p-1)(p-2)\Gamma + 2\sqrt{2 - p + (p-1)[(p-1)\gamma - (p-2)\Gamma]} \right],$$

there exists $C > 0$ such that (27) holds.

Case (ii): $1 < p \leq 2$.

We now proceed as in the above case, the estimate (21) is replaced by

$$\begin{aligned} \psi(t) &\leq (p-1)C_{\varepsilon}^2 \int_0^t f^{2\alpha-2} f'^p ds + (p-1)(C_{\varepsilon} - \alpha)^2 \int_0^t f'^p f^{-2} ds \\ &\quad - 2(p-1)C_{\varepsilon}(C_{\varepsilon} - \alpha) \int_0^t f'^p f^{\alpha-2} ds + C, \end{aligned} \quad (28)$$

where

$$C_\varepsilon = \begin{cases} \frac{p-2}{2}(\gamma - \varepsilon) + \alpha & \text{if } \left| \frac{p-2}{2}(\gamma - \varepsilon) + \alpha \right| \geq \left| \frac{p-2}{2}(\Gamma + \varepsilon) + \alpha \right|, \\ \frac{p-2}{2}(\Gamma + \varepsilon) + \alpha & \text{if } \left| \frac{p-2}{2}(\gamma - \varepsilon) + \alpha \right| < \left| \frac{p-2}{2}(\Gamma + \varepsilon) + \alpha \right|. \end{cases}$$

Observing that (24) still holds, so we have also the estimate (25) with the constant

$$\tilde{C} = \frac{(p-1)C_\varepsilon^2}{2\alpha - 1 + (p-1)(\gamma - \varepsilon)} \in (0, 1). \quad (29)$$

(29) implies

$$\alpha < \frac{1}{2(p-1)} \left[2 + (p-1)(2-p)(\gamma - \varepsilon) + 2\sqrt{2-p + (p-1)(\gamma - \varepsilon)} \right].$$

Hence, the same procedure as in the case (i) gives estimate (27) for any

$$\alpha < \frac{1}{2(p-1)} \left[2 + (p-1)(2-p)\gamma + 2\sqrt{2-p + (p-1)\gamma} \right].$$

Therefore, it follows from Lemma 4.1 that if

$$N < \begin{cases} p \left\{ p-1 - (p-2)\Gamma \right. \\ \quad \left. + \frac{2}{p-1} \left(1 + \sqrt{2-p + (p-1)[(p-1)\gamma - (p-2)\Gamma]} \right) \right\} & \text{for } p \geq 2; \\ p \left\{ p-1 - (p-2)\gamma \right. \\ \quad \left. + \frac{2}{p-1} \left(1 + \sqrt{2-p + (p-1)\gamma} \right) \right\} & \text{for } 1 < p \leq 2, \end{cases}$$

then there holds $\|u_\lambda\|_{L^\infty(\Omega)} \leq C$. Therefore $u^* = \lim_{\lambda \uparrow \lambda^*} u_\lambda$ belongs to $L^\infty(\Omega)$ and is a regular extremal solution of (1) for $\lambda = \lambda^*$. \square

REFERENCES

- [1] ALVINO, A.—BOCCARDO, L.—FERONE, V.—ORSINA, L.—TROMBETTI, G.: *Existence results for nonlinear elliptic equations with degenerate coercivity*, Ann. Mat. Pura Appl. (4) **182** (2003), 53–79.
- [2] BREZIS, H.—CAZENAVE, T.—MARTEL, Y.—RAMIANDRISOA, A.: *Blow up for $u_t - \Delta u = g(u)$ revisited*, Adv. Differential Equations **1** (1996), 73–90.
- [3] BREZIS, H.—VÁZQUEZ, J. L.: *Blow-up solutions of some nonlinear elliptic problems*, Rev. Mat. Complut. **10** (1997), 443–469.
- [4] CABRÉ, X.—SANCHÓN, M.: *Semi-stable and extremal solutions of reaction equations involving the p -Laplacian*, Comm. Pure Appl. Anal. **6** (2007), 43–67.

- [5] CRANDALL, M. G.—RABINOWITZ, P. H.: *Some continuation and variational methods for positive solutions of nonlinear elliptic eigenvalue problems*, Arch. Ration. Mech. Anal. **58** (1975), 207–218.
- [6] DI BENEDETTO, E.: $C^{1+\alpha}$ local regularity of weak solutions of degenerate elliptic equations, Nonlinear Anal. **7** (1983), 827–850.
- [7] EIDELMAN, S.—EIDELMAN, Y.: *On the regularity of the extremal solution of some Diriclet problem*, Commun. Contemp. Math. **9** (2007), 31–39.
- [8] FERRERO, A.: *On the solutions of quasilinear elliptic equations with a polynomial-type reaction term*, Adv. Differential Equations **9** (2004), 1201–1234.
- [9] AZORERO, J. G.—PERAL, I.: *On an Emden-Fowler type equation*, Nonlinear Anal. **18** (1992), 1085–1097.
- [10] AZORERO, J. G.—PERAL, I.—PUDEL, J. P.: *Quasilinear problems with exponential growth in the reaction term*, Nonlinear Anal. **22** (1994), 481–98.
- [11] GRENON, N.: L^r estimates for degenerate elliptic problems, Potential Anal. **16** (2002), 387–392.
- [12] JOSEPH, D. D.—LUNDGREN, T. S.: *Quasilinear Dirichlet problems driven by positive sources*, Arch. Ration. Mech. Anal. **49** (1973), 241–269.
- [13] LIEBERMAN, G. M.: *Boundary regularity for solutions of degenerate elliptic equations*, Nonlinear Anal. **11** (1988), 1203–1219.
- [14] MARTEL, Y.: *Uniqueness of weak extremal solutions of nonlinear elliptic problems*, Houston J. Math. **23** (1997), 161–168.
- [15] MIGNOT, F.—PUDEL, J. P.: *Sur une classe de problèmes non linéaires avec nonlinéarité positive, croissante, convexe*, Comm. Partial Differential Equations **5** (1980), 791–836.
- [16] MONTENEGRO, M.: *Strong maximum principles for supersolutions of quasilinear elliptic equations*, Nonlinear Anal. **37** (1999), 431–448.
- [17] SANCHÓN, M.: *Regularity of the extremal solution of some nonlinear elliptic problems involving the p -Laplacian*, Potential Anal. **27** (2007), 217–224.
- [18] SANCHÓN, M.: *Boundedness of the extremal solution of some p -Laplacian problems*, Nonlinear Anal. **67** (2007), 281–294.
- [19] TOLKSDORF, P.: *Regularity for amore general class of quasilinear elliptic equations*, J. Differential Equations **51** (1984), 126–150.
- [20] VÁZQUEZ, J. L.: *A strong maximum principle for some quasilinear elliptic equations*, Appl. Math. Optim. **12** (1984), 191–202.
- [21] WEI, L.: *Remark on closedness of perturbation set and regularity of associated extremal solution*, Nonlinear Anal. **69** (2008), 683–691.
- [22] YE, D.—ZHOU, F.: *Boundedness of the extremal solution for semilinear elliptic problems*, Commun. Contemp. Math. **4** (2002), 547–558.

Received 9. 5. 2011

Accepted 7. 3. 2012

Department of Mathematics
Hangzhou Dianzi University
Zhejiang 310018
CHINA

E-mail: alongwei@gmail.com